€ 2FvrEYE

ZIL=
At
TS2RFYD

ST-4E

—ZHAR
& HSS ST-1E-2E-3E:WA0X D40 X H127mm
ST-4E : W55XH130mm
o i3
mE 2254 (r—2ZA) JAN
ST-1E 4-5-6-7-8-9-10-11-12 9 2,200 023927
ST-2E 6-8-10-12-14-16-18 7 3,630 023934
ST-3E 6-9-11-13-15-17-19-21-24-27-30-33 12 8,030 023941
ST-4E 6-9-12-15-18-21-24-27-30-32-34-36-38-40-42 15 11,000 023958

€D 2t LzFYTEY R

BIGIRIE 2mm
7)b
)
TSRFYY
ME HSS

=2 AX
STS-1E-2E-3E:W40X D40 XH127mm
STS-4E : W55 XH130mm

& B (ﬂ%\) JAN
STS-1E 4-5-6-7-8-9-10-11-12 9 2,300 023965
STS-2E 6-8-10-12-14-16-18 7 3,750 023972
STS-3E 6-9-11-13-15-17-19-21-24-27-30-33 12 9,200 023989
STS-4E 6-9-12-15-18-21-24-27-30-32-34-36-38-40-42 15 12,900 023996

é9 27T ek =

ST-1-5T-3-5T-4
EIRE 3mm

b

=
e |

T3

e iig
o
ST-3

NG r =AY A X
ST-1-2:W50XH140mm

ST-3 :W40XH130mm

& Co-HSS ST-4 :W55XH130mm
o A& A&
i B xwom) r—zn AN
ST-1 4-5-6-7-8-9-10-11-12 9 6400 024016
ST-2 6-8-10-12-14-16-18 7 9,700 024023
ST-3 69 11-13-15- 1719 21-24-27- 3033 7777777 12 20,900 024030
ST-4 6:-9-12:15:18-21-24-27-30-32-34-36-38-40-42 15 31,900 024009
AEESyTTRARUIL |
‘635mm‘ |

. Pt T r—2HAZ
ME HSSF&¥YIA—FT4vY W40X D40 X H127mm

. GAZ &
i (mm) B =2N) AN
TLST-T4-3/8  3.3(M4x0.7)-4.2(M5x0.8)-5(M6x1.0)-8(3/8w) 4 2,600 014918
LST-T410 3.3(M4x0.7)-4.2(M5x0.8)-5(M6x1.0)-6.8(M8x1.25)-8(3/8w)-8.5(M10x1.5) 6 3,000 014901

fiifgdI~RT(@®RIETT, 30



